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s wonder tes books about citics. HE 1S - 4PpY In 3 Crow, db(’h‘t

e iam H. Whyte WIS 70 and many people. He likes e -9 ciyy

this, Williar with many stor like big cities. The ife j

He loves busy S - fany pcople dounot-dike Ko + ANRY see th City,

arks and restaurants. Many aid. Many cilics arc growing yery fa'e arg,

Sopulation of cities an big. terrible thing.) In some COu-mn‘:_t' oy

go 1o cities to work. For exam le 33, :

In china, about 183, (g pe(; ]00! 4

¢

itl erisa
are "monster” c1t1€s. (A monst
3 3,
ar. Sao Paulo and Beijing v

Read the fol

Are big ¢it

arc no jobs in $
people go 10 Sao
to Beijing from the €O
megacities. A megacity 15 a
citiEs and towns around lt.‘
square mile (2.59 square kil
many U.S. cities therc ar¢ m
dirty. A terrible problem is crume.
to feel safe.

mall towns. people
paulo, Brazil. cvcry;;a;c
ide ev
the couﬂtr{ilgf very big ci.ry, 1'1 includes the maiy, Citva;e
Bopuiaann Leteby ! he number of peopie ln d the
ometers). There arc big problems in megacit-“ on
any people with no jobs and no homes: theles'- L
Many people arc afraid of crime. People ;:-rals
nt
1.  William H. Whyte likes the life __.
a. inthe village
in the city

c. inthe niver
d.  in villages with many parks and restaurants

2. "Sio Paulo" and "Beijing" are both .
a.  vineries
b.  toners
C. _ countrysides
megacities
3. Abig, terrible thing is a o
d.  master
b.  mobster
monster
d.  minister
4.

Is what we cal] 'Population density".

. The number of :
people in ¢ A
b. The number of people in ——

; P'€ I one square millj
IT’i:: It:uml;er of pupils in ope s;uareemile meters
- tmber of people in one Square mile
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5. ____isacountry,
- a.  Aregion that is unidennfied :
b.__ Aregion that is identifieq o« . o i olical geagra
Aregion that is identified ; |
d.  Aregion that is identify
6. The word 'terrible’ means :
a._ causing or likely to cause error
causing or likely to cause terror
c.  causing or likely to cause tremor
d.  causing or likely to cayse timmer

7. The word 'crowded' means 3
a. involving a smal] number of people
b. involving a discharge lumber of people
c.  involving Lafarge members or people
- involving a large number of people
8. The word 'busy' means 1
a. Inactively and inattentively engaged in work
b. _actively and attentively enraged by work
ctively and altentively engaged in work
d. lavishly and deceptively engaged in work

9. The word 'fear' means

———

a.__ filled with appreciation

@ filled with attention
c.  filled with approbation
d. filled with apprehension

10. The total number of persons inhabiting a country, city, or any district

is .
a. perennation
b.  probation

opulation
d. publication

11. The opposite of 'afraid' is .
a. featherless

b. fatherless
c. fierce
fearless
12. The opposite of 'crowded'is .
2. deflated

b.  departed
) deserted
4. dissected
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14. The me Jogree of PO i ) esotd
e pin i e
" ; ’;Icms of Ve . ‘:5 large ciies
-Thq.’ pr‘ 1 n‘.g in {O“'n\' an <
rhe pipehin® ' .
) F Z rites OOl\s about
william H- whyte ® e
A ] i
ke a. coumrlc>
h, village
S1U1es
d. factores .
y - afraid of
ities le are usually 2 .
16. Inall megacities: pc.:op
z  water shortage
food shortage
. milk shortage
- crime
«the air is dirty,’ capmean __ .

17. The word vdirty’ in
a. not clone
b. clean
¢. beautiful

.not clean

18. Choose the correct sentence.
A village i1s a very big city that includes the main village and tj
- < Cilies

d.
and towns around 1t.
b. A megacity is a Very small city that excludes the main city ;
and towns around It. Y and the citie
¢. Anedacity is a very big city that includes the main villages and th
5 the cities

and countries around it.
A megacity is a very big ci i
negacity is a very big city that includes the main city and the citi
cities

and towns around it.

19. Choose the correct sentence.
a.
One square meter equals 2.59 square kilometers

b. O !
i O:: :qﬁe mile equals 4.59 square kilometers
o Sgwe mile equals 2.59 square millimeter.s
e mile equals 2.59 square kilorneters.‘
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chd the following passage ang

23,

4.

answer the
¢ question that fq)
Ollow:

The Bald Eagle is a majestic pipy -
wings, white head, and liroe l:rd. Ihe
brown. Bald Eagles almost ajws ,vsol‘_’lfcd y & (
is fish. Sometimes, however, Bi)lld l[.‘ RE W h:':;R‘cr birds 4,
will even steal food from other bird‘,a,gfIcs 1CIr map, §,
reason that the famous Patriot Bcnj;ms-lwh ,
America's National symbol, Ne"crthe;? I‘:r'
symbol. €ss, the Bald

How are younger Bald Eagles diff,
a. They have black bills. erentfrom adult Bald Eagles?

b. They are smaller.

@ They are totally brown.
a. They have lighter bodies.

Benjamin Franklin thought that
a. the Bald Eagle was a fine choice as Ame;ica’s symbol
b.  the Bald Eagle was a better choice as America's symbol than the Wild

Turkey
neither the Wild Turk sle we -
cymbol ey or Bald Eagle were good choices as America's
the Wild Turkey w i -
-Eag]el urkey was a better choice as America's symbol than the Bald
What color is the Bald Eagle's bill?
a. white.
b. brown.
@ yellow.
d. black.
The word 'hooked' in 'hooked yellow bill'is
a. asubject

b. averb

an adjective

d. apreposition

The word 'carrion’' in the above passage means .

a. live animals

b. wild animals

¢.  dead anginas
dead animals
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26. Osprevs and gulls are kindas of

o Insects
b vegetables
£ fish

- birds

27. According to the above passnge, Amerit w'a aymbol s

bald eagle — —

b sea gull a

C. Ospreys

d " Id Turkey

2a. Why do Bald Fagles usually live near wuler”
a because bald Fagles hike to swinn

b because 1t protects the nest fremps preeedaten s

because they steal food

-bccausc bald Fagles eat hish d %

29. The author seemed surprised that

a. bald cagles cat fish

@ bald cagles steal food from other birds
€ the bald cagle 15 Ametica’s symbol

d. bald eagles have white heads




AL
f-
“‘."‘*-‘(1 Wy
00S€ the correct sentence,
. C A question ends with a quegiq
-Pcn'od (.). N mark (?) ang
t a
A question ends with a per Matemeny o
ark:A?) 10d () and 5 S With
mark (-} Statemeny &l
A question starts with a quects > With gy
: q d () ith a question Mmark () 4 Sstap
penod {-)- -1and a stareme
Nt stang
Witk

d both the question and the statement ¢ng
. end with g e
correct i question mark -
" choose the question for the following short .
e ' ans“er: s
. Did they arrive? Yes, they
Are they at school?

.
C-Do they ammve early?
4. Can they be at school?

the correct short answ
, (Choos¢ nswer for the question
? on 'Is your mo
: ther
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s  Yes, she did not.
p. Yes, she does not

c. Yes, she will not.
@ cs. she is.
noose the correct question senten Caira ici
* Ll; Where Cairo i(s]‘.’ ce from 'Cairo is in Egypt.’
b. Is where Cairo?
@ Where is Cairo?
d. Is Cairo where?

34. Choose the sentence in which the verb has a final -s after the 3rd

person singular subject.
a. She will travel tomorrow.
b.  He can study abroad.
@D The cat drinks the milk.

ua. We respect you.
35. My students usually interesting books.

a.  buys
b. buries
buy

a. buyers
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36. Water at 100 degree.
a. boils
b are boiling
(/A have boiled
boil

37. Adverbs of frequency usually come¢ ___—— e
before main \'cr.bs and after verb ro be
b. after main verbs and before verb 70 b_e
C. before verb to be and also before main
d. only after prepositions

\,-'crhS

. f the verb when
38. In the simple present tense, we add an -ies (0 the end ©

the subject is a : :
a.  third person plural and when the verb 1s Prec(l.‘ e
b. first person singular and when the verb cnds 1f

eded by @ consonant
-s and 18 preceded by a

e : .g .« preceded by @
c.  second person plural and when the verb ends 1n -CS and is P
vowel ‘ ) Tt
: , receded by
third person singular and the verb ends 1o = and 15 P
consonant
Sally and Nadia for their final exam right now.

a.  prepare
b.  prepares
c. is preparing
are preparing
To form a negative sentence in the present progressive, .
a. we add 'not'before 'BE'

b. we add 'do not' after 'BE'
G we delete 'BE' from the sentence.

- we add not’ after 'BE'

. Sally said that she did not ‘
a.  got much mail

get much mail

c. get many mails

d.

got much mails

Choose the correct sentence.

a.
b.

C.

Pronouns have different meanings from the nouns they refer to.
Verbs have the same meanings as the nouns they refer to.
Pronouns have the same meanings as the adjectives they refer to.

@ Pronouns have the same meanings as the nouns they refer to.
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(hoose the group of words (.,
6 4 come, lc§cll, read, bring representg .
teacher, tarmer, writer, play -
advice, money, music,. lraﬂ)’e‘r
4. in,on; at, for N

rpe adjective from "family' jg
i familiar =&
b. families
~ famine
4. familial

i, The adjective from 'child’ is

a. kids —_
b. children

@) childish
d. chilled

9, The number for 'Twenty-three milli
. on r
six hundred' is five hundred seventy thousand

a 32,570,600
b, 23,750,600
@ 23. 570.600
d. 23,570,006
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